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Xl 3,220,000
e 5,798,488
2+ ZoHLH FE X BH2H 2 140,000 44,000 96,000
X 70,000
fia 70,000
ZZOMUMHARAF(AMZER) 40,000 30,000 10,000
Xl 20,000
e 20,000
401 Al HIZ 201 Y] 40,000 30,000 10,000
X 20,000
s 20,000
01 A& HI 40,000 30,000 10,000
o ZZOHUWHEXE FH| 40,000,000& 40,000
Xl 20,000
s 20,000
ST TAMNL (2ZOUHEX (&) EHUIAIY) 100,000 0 100,000
Xl 50,000
[ia 50,000
401 AIEHI L 2 CHYI 100,000 0 100,000
Xl 50,000
e 50,000
01 A& HI 100,000 0 100,000
o ZZOIUEX(ol&)E FHIAY
100,000, 000& 100,000
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EX: S22
H: 25 - 2T AU L 22X Y
ol BEOIYEN TR (SHol: @)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 50,000
= 50,000
s 22X XM 1,165,436 1,064,881 100,555
Xl 600,000
= 565,436
22X (s 22X) 1,000,000 250,000 750,000
Xl 600,000
= 400,000
401 AlEHIZL 201 Y| 1,000,000 250,000 750,000
Xl 600,000
= 400,000
01 Al&H| 993,700 248,200 745,500
o MAHdS 2ZXN XHEAY 993,700,000& 993,700
N 596,220
o 397,480
03 Al 20| 6,300 1,800 4,500
o AMdS HZX ZAHEAMNYE FX 6,300,000 6,300
Xl 3,780
= 2,520
PN S N R 165,436 814,881 649,445
101 e1218| 41,595 38,788 2,807
04 J|12ZtHIZ22NEES 41,595 38,788 2,807
o SN ¥ FSi=2 e o2
52,1603 * 10¥ * 40 20,864
o AUAEAIHOIHZA 22 JI2tHed 21|
52,1603 » 1Y€ » 262 x 12& 16,274
o 4EEg = 37,138,000 * 12% 4,457
201 Yet2 | 113,401 116,073 £2,672
01 AP 22| H| 32,459 37,077 N4 ,618
< 2Bt ZH| > 0
o UZAIRA, SASIZ, AIUOHIZ 223
= 344,400 ~ 12€ 4,133
o MY SEH s P
1,040 = 12004 ~ 12€& 1,498
o AUFMEAIHOIH R EAE BIEZ2NME AQE
- 600,000€ = 50 = 23| 6,000
o Ze|AIR2A L £=SHAIZ, AUOHIZ 292!
AHANAE S92 470,000 = 12€ 5,640
o AMHEAIHOIHZ 22 M|t 22| &
=g 132,000 ~ 12&€ 1,584
o UAEAIHOIHZA 22 22HOole |SA2
cl 249 250,000 ~ 12€ 3,000
o AUAEHAIHOIHZA A2 (HE =4
400,000& = 12€ 4,800
< YEE > 0
o UYWL ¢ 100,000 * 9¥ « 23| 1,800
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2N

S22
HH: 25 AN L DBA Y
celr HAB 2R Z4 (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< S EHl > 0
o BBMWLYD =T 2|
L0003 » 4% = 1432 4,004
02 2324l 80,942 78,996 1,946
<SS 2sZHA > 0
o ZEAMEA Y =STAZ, SEFLY, HES,
AMUIOHEHIZ &JI1R3 5,200,000& = 12& 62,400
< HZHl > 0
o ZZIMBA Y =SHAIZ, AUIGHHIR S22
gl 920& * 403| = 250 =« 3MA 2,760
< ANEFUISXY > 0
o Hds2ZX ME&mwX  3,000&8 * 5,000m 15,000
o st¥ERR =HE 17,0008 * 23 * 23| 782
202 4l 2,820 2,820 0
01 = LH A HI 2,820 2,820 0
o HENLHRFA 20,000& = 3% = 47 2,820
206 M= Hl 3,000 3,000 0
01 M= 4l 3,000 3,000 0
o MOMSH % HE 7
10,0003 = 608 « 53l 3,000
307 gl2tol & 4,620 4,200 420
05 RIZHRI & 3 4,620 4,200 420
o ZHESHAX 2rHelAld 2e/AE 23|
385,000& = 12& 4,620
==d3E HE 38,012 57,591 A 19,579
I EERE 38,012 57,591 A 19,579
101 @124l 5,842 10,011 A4,169
04 JIZHHNZ22XNSE =+ 5,842 10,011 24,169
o ZRIETFE Aldae AR
52,1603 = 20H  5¢ 5,216
o AHEE = 5,216,000& = 12% 626
201 ¢4l 22,930 19,180 3,750
01 At 2t 2l 600 1,240 A 640
< LBh=2Hl > 0
o 22YHE B2ASRE PY
10,000& = 5& = 12& 600
02 23=2gHl 22,330 17,940 4,390
<3S ZLAHAM > 0
o 32ISE FEA, St=HM2IAE, Kot
&dlle3 200,000& = 123 2,400
o ZRM2FIE EFY L St=HMelAlE &I
23 400,000& = 123 4,800
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EX: S22
Hu: 25 BBV L BB He
©9: 3RASE N (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o RAFXAE SI&EA, Kot IS
150,000 * 12& 1,800
o FUFIE SIHA Xotx HIIL=
120,000 * 12& 1,440
< A& EUSXH > 0
o 2 2YSE AAE KXH 2,500& x 1,500m 3,750
o 221, 2=XE AAE XYl
2,500 * 1,000m = 200 A 5,000
o Fe QAFIAE AM S Y|
2,500& * 500m * 200 A 2,500
o 33 242
16,0008 * 10€ * 23| ~ 204 640
307 2Iz2t0| A 9,240 8,400 840
05 QI2t &2 9,240 8,400 840
o == 0ISol=HM2lAlE RIE22
385,0008 * 204 = 12&€ 9,240
AHS FHY ME ez X4 667,000 0 667,000
Xl 400,000
= 267,000
ME=sMAZ TN (HEs MEIEYHZ =4) 667,000 0 667,000
Xl 400,000
= 267,000
401 Al HI L 2 0HHI 667,000 0 667,000
N 400,000
= 267,000
01 Al& H| 667,000 0 667,000
o AMS MEEEZ XM 667,000,000 667,000
N 400,000
= 267,000
MRPHSIEJ]AITY 1,833,000 1,283,000 550,000
Xl 950,000
= 883,000
S22 NN (AREHIIZR XH) 1,333,000 283,000 1,050,000
Xl 800,000
= 533,000
401 AIEHIZL 201 Y| 1,333,000 283,000 1,050,000
Xl 800,000
= 533,000
01 Al&H| 1,326,100 281,019 1,045,081
o MPHSIZEIA XHZBA 1,326, 100,000& 1,326,100
Xl 795,860
= 530,240
03 Al 20| 6,900 1,981 4,919
o MRHFEIA THISA =& 6,900,000& 6,900
Xl 4,140
= 2,760
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2N
X ZH -
L= B

el

S5
25 2N L BN N
NEE LY

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HEIEANE N (HE8/42HSSY =728 =4d) 500,000 1,000,000 A 500,000
X 150,000
s 350,000
401 Al HI K 201 I 500,000 1,000,000 500,000
X 150,000
s 350,000
01 A& Bl 500,000 993,700 A 493,700
o MRHITH U F7H ZLTA
500,000,000 500,000
Xl 150,000
s 350,000
2 E N 835,040 1,197,090 A 362,050
Xl 500,000
s 335,040
MESMTBOENL(SYN AR & 2 B 833,000 1,167,000 334,000
)
Xl 500,000
e 333,000
401 Al HI L 2 THHI 833,000 1,167,000 334,000
Xl 500,000
e 333,000
01 A& HI 827,500 1,162,900 A 335,400
o FYM XK = It=Z FH
827,500,000& 827,500
Xl 496,700
e 330,800
03 A& =TI 5,500 4,100 1,400
o EY4 IR % =2 FH =W
5,500,000& 5,500
Xl 3,300
[ia 2,200
et M E S H IS ALY 2,040 2,040 0
201 L4l 2,040 2,040 0
02 22| 2,040 2,040 0
o SAFA ANER 3,000&  680M 2,040
34 82 24 4,340,000 0 4,340,000
Xl 700,000
s 3,640,000
HEXSAE N (ME/ZLTLHSSY HY) 2,340,000 0 2,340,000
Xl 700,000
s 1,640,000
401 Al HIZ 201 8] 2,340,000 0 2,340,000
Xl 700,000
e 1,640,000
01 A& HI 2,331,600 0 2,331,600
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2N

Zst2-Z
Hu: 25 BBV L BB He
Sl N DHRSH X4 (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o ZHEISLE2SE U 2,331,600, 000& 2,331,600
Xl 697,480
[ia 1,634,120
03 Al S HHI 8,400 0 8,400
o ZHTHSEF AY F 8,400,000 8,400
Xl 2,520
s 5,880
FESE2ST AERAN e 2,000,000 0 2,000,000
401 Al HI K 201 I 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
o HEIBLEESE HE REXMHY
,000,000,000& 2,000,000
dEH=s L dEME |4 3,631,708 1,694,564 1,937,144
J| 119,345
< 3,820
[ia 3,508,543
MeHSUALXEAH HXI2Y 272,923 251,592 21,331
J| 119,345
< 3,820
s 149,758
UBIMEH XX BRI (2SXA) 153,648 145,728 7,920
J| 51,216
= 102,432
307 21201 A 153,648 145,728 7,920
J| 51,216
[ia 102,432
02 It S AIHE L 153,648 145,728 7,920
o MEHEAZX BEX 25,608,000 » 69H 153,648
J| 51,216
e 102,432
HEAMEMNSXZA BHX(2SXA) 76,824 72,864 3,960
J| 38,412
i 38,412
307 glz2tol & 76,824 72,864 3,960
J| 38,412
s 38,412
02 IZtE M AHE X 76,824 72,864 3,960
o UG MEM IS B X
25,608,000& » 3H 76,824
J| 38,412
s 38,412
AZXAHM0IEH K 42,451 33,000 9,451
J| 29,717
< 3,820
s 8,914
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2N
X ZH -
L= B

el

St
HEH=s & s 4
MEYSDALICA 2

SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 42,451 33,000 9,451
J| 29,717
< 3,820
s 8,914
01 MEI2EZE %06z 42,451 33,000 9,451
o AEXX2L 0I2EAMY 42,450,400 * 14 42,451
J| 29,717
= 3,820
s 8,914
HEHMINALLa=2Y 2,717,632 777,430 1,940,202
FEZENETIZER2Y 285,020 285,020 0
301 L2 A= 285,020 285,020 0
V=t - 2sRS24= 285,020 285,020 0
SE= 200,000,000& = 1& 200,000
o AHEE = 23,520,000& 23,520
o a3 &EdHl 2,500,000& = 53| 12,500
o g4 22| 500,000& = 12& 6,000
o | FHl 600,000& = 12& 7,200
°o 2= 2,000,000& = 43| 8,000
o §&Z 2,600,000& » 3H 7,800
o 2ddl S 1,500,000& = 12& 18,000
o Mg =% 500,000& = 43| 2,000
Hdeted S XA dMstia X& 182,500 180,500 2,000
307 glz2+ol & 182,500 180,500 2,000
04 QIZFHALAIH E = 182,500 180,500 2,000
o HMb573 dMetgs M=soal &t
90,000,000& = 13l 90,000
o H293 Metde MEHSs UsH
55,000,000& = 13l 55,000
o NMetg XA S3EUa Fot 11,500
- =370z2 2,000,000& = 13l 2,000
- HOIE=US 1,500,000 = 13l 1,500
- dd2EE=EZUS 1,000,000& * 13l 1,000
- §303 1,000,000 = 13l 1,000
- E3Uze 1,000,000& * 13l 1,000
- =2=U3 1,000,000 =« 13l 1,000
- HILIACHS 1,000,000& * 12l 1,000
- BHESIE S 1,000,000& * 13| 1,000
- F303 1,000,000 = 13l 1,000
- =3 1,000,000 * 13l 1,000
o ZEUE H44 MU &It
4,000,000& = 13l 4,000
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SA 2T
M MBS Y W2HS sS4
SOHIALLERH ECR-E)

- _ _ RE]
M- B (B H) - NSAY - B Ol At o ﬁ}lgﬁ HRE2
o MZlEYT H2A XMSWMa =t
9,000,000& = 13| 9,000
o M= OetRE=Z 3 &It
1,000,000& * 33| 3,000
o HMH258 detdxT X M=E &It
10,000,000& = 13l 10,000
24E MSAKA 105,100 124,900 A 19,800
201 et d| 1,260 1,260 0
01 AP 22| H| 1,260 1,260 0
< 2 H| > 0
o AEUE ¥ XMSIE!A =& = &H|
7,000& * 3% * 60Y 1,260
202 o4 | 3,840 2,640 1,200
01 2Ll 3,840 2,640 1,200
o A= L HSHA N S
20,000 * 3% x 64 3,840
307 2iz2to| A 100,000 121,000 A 21,000
02 QIZIAAAIE E X 20,000 20,000 0
o NMetd: Hslal EI e 2=
10,000,000& = 23| 20,000
04 QIZ2tSHAFAFS B X 80,000 101,000 A 21,000
o HHZ4Hl BIS U3 3,000,000 = 13| 3,000
o HOolE=U3 5,000,000& = 13| 5,000
o ZE30U 3 3,000,000 = 13| 3,000
o EJMU3 3,000,000& = 13 3,000
o YAILHE 3,000,000 = 13| 3,000
o HHEQIE 3 12,000,000& = 13 12,000
o HILIAOS 6,000,000 = 13| 6,000
o etz i3 3,000,000& = 13 3,000
o 23 3,000,000& = 13| 3,000
o MaA=23ZM3 3,000,000 = 13| 3,000
o HIAMUI 6,000,000& = 13| 6,000
o =203 3,000,000 = 13| 3,000
o AMHT MEHX FAUSZ
10,000,000 = 13| 10,000
o LOoINOIEEUE XA 3,500,000& = 43| 14,000
o HAHdF AA Y ASSH MU
3,000,000& = 13| 3,000
= X&¥ZI U3 XN& 102,000 102,000 0
201 gBt24y| 2,000 2,000 0
03 HAI2 G H| 2,000 2,000 0
o M2 XA =& dA2Y
2,000,000& = 13 2,000




fAH: S2st22 1
MY MEIS Y M2AR S4
ool HSSHIRLES S CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 100,000 100,000 0
04 DI2HHALALSE E X 100,000 100,000 0
o M= XFEFI tHal Nzl
100,000,000& * 13l 100,000
FEzHd=3 XN&E 70,012 85,010 A 14,998
307 21201 A 70,012 85,010 A 14,998
02 BIZFA M AMEHE X 24,000 39,000 A 15,000
o HAWE =EJFWA 2F 6,000,000& 6,000
o MEMSXNZX 22
150,000& = 10 = 12& 18,000
03 QIAHNHE2IHIEE 46,012 46,010 2
o FdZ M=s=2 234l K&
1,083,300& * 128 13,000
o FHZMEI MR=E ESHl S
1,375,500& » 2% » 12& 33,012
=2 & MEUsa Mzl 200,000 0 200,000
307 glz2tol & 200,000 0 200,000
04 DI2HHALALSE E X 200,000 0 200,000
o 2o &4 MU M
200,000,000& * 13l 200,000
OFR& &AL 1,773,000 0 1,773,000
401 Al HI K 201 I 1,773,000 0 1,773,000
01 A& HI 1,773,000 0 1,773,000
o 2X gl S(or7& =4)
1,773,000, 000& 14 1,773,000
FOHSsAME 22 641,153 665,542 A24,389
=032 242y 368,366 40,103 328,263
201 Let2d] 47,902 37,663 10,239
01 At 2teltl 13,440 12,074 1,366
< YEt=2Hl > 0
o Zog 2 2Ae2E 15,0008 * 48 « 128 720
o Z0lgl2 StHEA HL Fa
1,700,000 = 13l 1,700
o Zolg& Ma=X A 1,000,000 * 23| 2,000
o Zog2 MIJF W
20,000& = 58 « 83l 800
o PO AYHY 42 U 2UBAY
240,000& = 123l 2,880
o Zolg2 MIIHEEAH 160,000& * 123 1,920
o Zolga HJ| U=
50,000& = 1CH = 12& 600
o Qg2 2OAHIAIAE  130,000& * 128 1,560
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EX: S22
MY MEIS Y M2AR S4
Sl FOUHSALBRY (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
< S EHl > 0
o 24E 3 € HSEHAI S|
7,000€ * 3™ * 60 1,260
02 2224 34,462 25,589 8,873
< BZ2QL2YLHA > 0
o HIR2 1,500,000 * 12& 18,000
o MotxER2 250,0008 = 12& 3,000
o RAYSES AIEE 8,800 * 12& 106
o F0lgl& AUObMEOSIHl 5,000 * 123 60
< HZHl > 0
o ZOlgla AZH| 7333 * 1,7674 1,296
< AIEHEHBISXIH > 0
o HOGA AEE KA B
1,500,000 * 83| 12,000
401 AlEHIZL 2 0HY| 320,464 0 320,464
01 Al&H| 320,464 0 320,464
o Ol B2 A 320,464,000 = 14l 320,464
HEZE HOIEEH 2Y 52,688 33,811 18,877
101 2121 H| 4,108 3,831 277
04 JIZtHIZ22XNSE S 4,108 3,831 277
o HI|&ze EXEHAH o8
52,160& = 5% x 15L 3,912
o AlEEg = 3,912,000& * 5% 196
201 et d| 48,580 29,980 18,600
01 AFR 2t 2| bl 7,360 8,260 A 900
< B2 H| > 0
o HHHOESE A HEGX HA
1,700,000& = 13| 1,700
o BANOEST 2YHY 442
800,000 * 13| 800
o HAHHOIESZE MIIMHEEH
160,000 * 12& 1,920
o AHHOIEEE 29 88 ¢
30,000 = 7 x 43| 840
o SH AHOE=ZHE 22| 100,000 = 9QJH & 900
o HHHOIE=SE ROoZHAIAE
100,000 = 12& 1,200
02 s32%H| 41,220 21,720 19,500
< BZ2L2YLHAM > 0
o HAHHOE=SE MIIKLS 500,000 * 128 6,000
o S48 HOIEESE MIE3
90,000 * QA ~ 12& 9,720
o HHHOIESE &dolx=ER=2
250,000 ~ 12& 3,000
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EX: S22
MY MEIS Y M2AR S4
Sl FOUHSALBRY (B9 ®R)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
< AE&RHSXH > 0
o HHHOIESE ANE KA B
1,500,000 = 63 9,000
o 8H HOE=ZHE AME RX =
1,500,000 = QA = 13| 13,500
242 2229 34,328 70,773 N 36,445
101 2121 H| 8,216 7,661 555
04 JI2ZtHIZ22NEE S 8,216 7,661 555
o ZHRsIMY ARY
52,160& = 10¥ * 15Y 7,824
o AEEg = 7,824 ,000& * 5% 392
201 et 10,982 7,982 3,000
01 AP 2t 2| bl 510 510 0
< B ZH| > 0
o HADI| g R 170,000 = 33| 510
02 2224 10,472 7,472 3,000
< BZ2L2YLHA > 0
o MIIR2 200,000 ~ 12& 2,400
o MolxER2 256,0008 ~ 12€ 3,072
< A2 HHISXIHI > 0
o BHERESH ANE SIES
1,000,000& = 53] 5,000
206 M = dl 5,130 5,130 0
01 X2 bl 5,130 5,130 0
o ZSHE2s&&L MFH
12,000 = 4= * 10¥ * 63| 2,880
o BH2sHLL FHH =
10,0008 = 75 * 33| 2,250
401 AlEHIZL £ 0HY| 10,000 50,000 A 40,000
01 Al&H| 10,000 50,000 A 40,000
o ZHE2sE 22| 10,000,000& = 1JH 24 10,000
Z22HEANE HE> A& 165,559 150,954 14,605
101 e1214| 9,859 9,194 665
04 JI2tHIZ22XNSESE S 9,859 9,194 665
o MEHEZE2A &xHAH o2
52,160 = 10¥ * 18Y 9,389
o 4EEg = 9,389,000& * 5% 470
201 gEt24y| 71,860 19,760 52,100
01 AP 22| H| 10,980 8,880 2,100
< 2Bt ZH| > 0
o ZEG&EA 29 AZE RA(SHEIX S)
100,000 = 3 & = 12&€ 3,600
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fAH: S2st22 1
MY MEIS Y M2AR S4
Sl FOUHSALBRY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o ZESEHEAY BB
16,0003 * 20& = 33| * 34 2,880
o MEHIALE RAUIHAAY EA=
200,000& = 12& 2,400
< S EHl > 0
o HSAE 2egd: =X =]
7,000& * 2% * 150€ 2,100
02 2324l 60,880 10,880 50,000
<3S ZLAHAM > 0
o BEIY MEMSIH MIILS 8,480
- HUAHE 300,000& = 123 3,600
- ZAF(S, &) 200,000& = 12& 2,400
- s 100,000& » 12& 1,200
- st&E4 106,600& * 123 1,280
o ZEZY HEHSIY Yol
200,000& = 12& 2,400
< AEEUHIKXY > 0
o MENSIE MSAE A EX(LIES)
10,000,000& * 1JH 2 10,000
o SUMSAE RX B+
1,000,000& * 45 * 1004 40,000
202 04l 3,840 0 3,840
01 = LH o4 1l 3,840 0 3,840
o MBAE BH L RAULL 42 =W
20,000 = 2% = 96 3,840
401 AIEHI L 2 CHYI 80,000 114,000 A 34,000
01 A& HI 80,000 114,000 234,000
o SUIMSAIE &X
3,000,000& * 4F * 544 60,000
o Ia3=XZ ¥ OdAd2E=ZE 72
20,000,000& = 14 20,000
THEZIF2AC2E 20,212 19,901 311
101 124 dl 4,602 4,291 311
04 JI2ZtHZ22HEE = 4,602 4,291 311
o ZHYIIZ FEMI A%
52,1603 * 69 » 14 4,382
o AHEE = 4,382,000& = 5% 220
201 Let24d] 14,410 14,410 0
01 At 22l 3,610 3,610 0
o 223 P 15,000& * 58 » 12& 900
o ALI g F2Y 170,000& * 33l 510
o St¥AER =HE 16,0008 * 20E * 23] 640
o ZIIE RUZHANAE 130,000& * 123 1,560
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